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Q1. Alight ray enters from medium A to medium B as shown in figure. The refractive
index of medium B relative to A will be

(a) greater than unity
(b) less than unity

(¢) equal to unity

(d) zero

Medium B

Medium A

Q2. Why prism is able to split the white light into seven colours?

Q3. Explain giving reason why the sky appears blue to an observer from the
surface of the earth? What will the colour of the sky be for an astronaut staying in

the international space station orbiting the earth? Justify your answer giving reason.

Q4. A person cannot read newspaper placed nearer than 50 cm from his eyes.
Name the defect of vision he is suffering from. Draw a ray diagram to illustrate this
defect. Draw a ray diagram to show how this defect may be corrected using a lens

of appropriate focal length.

Q5. As per below ray diagram, explain the defect of eye. With the help of ray

diagram elaborate how to correct this defect of eye.
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Q.1. Objectives .

1. WWW stands for ;
2. The system to idnetify the Web location is called as
a. DNS (Domain Name Server)
b. IP (Internet Protocal)
¢. URL (Uniform Resouce Locator)
d. Gateways
. Internet was started in
. Which Protocol is responsible for coverting the data into small packets of
equal size
a. TCP
b. SMTP
c.FTP
d. HTTP
5- W3C organization is responsible for the development of new standards and
technology for the working of internet.
a. True
b. False
6. Google Chrome is an example of Web Server
a. True
b. False
7. Which of these is not a Search Engine?
a. Google
b. Alta Vista
c. Bing
d. Google Chrome
8. Give 2 example of following websites
a. e-Commerce
b. Social Networking
9. Email can be sent even if the recipients is not online available
a. True
b. False
10. 1s 1con for file attachments

2 U

4 o

Classificatie: Algemeen
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11. is an act of software piracy
a. Make a copy of the licensed software and distribute 1t to others
b. Give your friend a copy of the music CD you bought online
c. Buy your own licensed copy of software
d. All of the above
12, is used to describe the legal rights of the owner of intellactual
property.
a. Patent
b. Trademark
c. Copyright
d. Design
13. E-Commerce fraud is also known as Purchase fraud. True or False?
a. True
b. False
14. You cannot modify the source code of open source software. True or False?
a. True
b. False
15. on the Internet refers to the various rights of individuals in
the cyber world.
16. Google Chrome is an example of Web server. True or False?
a. True

b. False

17. Braodband connection is faster than dial-up connection. True or False?
a. True
b.False

18. A device that connects dissimilar networks is called

19. Give 2 examples of e-Groups, e-Commerce and Social networking.

20. represents personal choice.

Q2. Answer in brief.

1. Name the 3 type of Software Licensing?

2. What do you understand by E-Commerce fraud. name all types of E-
Commerce fraud

How does FTP work. Explain with diagram?

. Expand SSH and explain briefly.

What do you understand by web address. Describe the different parts of web
address?

6. How is Cc is different from Bece in context with Email message ?

7. What are the hardware requirements for videoconferencing facility?

S

Classificatie: Algemeen
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8. Explain the various ways of secure data transmission from source to
destination.
9. What are the netiquettes rules for Cyber ethics?
10. What is cyber ethics?
11. Give difference between 3G and 4G networks.
12. Which network is called as Virtual Hypertext Network?
13. Write the difference between SMS and MMS.
14. Give 4 examples of Web Browsers.
15. What 1s ISP (Internet Service Provider)?
16. What 1s difference between IETF and IRTF?
17. Expand the following domain extensions.
a. com
b. org
C. gOoV
d. au
e. 1n
18. Explain the history of Internet development.
19. What do you understand by web address? Describe in details the different part
of the web address.
20.What is the role of a server machine in the Client Server Technology?

Classificatie: Algemeen
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1.

The following passage has not been edited. There is an error in each line against which
a blank is given. Write the incorrect word and the correction in your answer sheet
against the carrect blank number as given in the example. Remember to underline the
word that you have supplied.

A. Ten of thousand of bat emerge.
Answer- emerge emerged

B.from under the bridge. It were (a)

C. a amazing sight. | learnt a (b)

D.few fact about these creatures. The baby (c)

E.bats is known as pups. Each (d)

F.mother bat delivers only one pups. (e)

G.They are usually born on June/July (f)
Imagine the poet meets Mijbil, the otter. Write a detailed account of the characteristics
the poet could use for her poem, if she were to write about telling an otter.

Write a letter to the poet detailing your favourite aspects of the poem and the ones that
you did not like. Include a request about which animal you'd like her to exclusively
compose a poem on. Give reason/s for your choice.

Ausable’s employer has been asked to write a recommendation letter for Ausable so that
he may be promoted to a higher rank in the secret services.

As his manager, draft the letter detailing his personality traits with reference to the
instance in the chapter as a prime example of Ausable’s genius.

You may begin this way:

22, rue Nationale

Paris

26 March’ 78

The General Director

Department for Internal Security

11-A, Rue de Dunkerque

Paris

Subject: Letter of Recommendation

This is to state that Monsieur Ausable has been a committed employee with us for the
past two years. In this time, he has ...... (continue).......

Yours sincerely

ABC
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6.A new secret agent has asked Ausable’s opinion on the traits they should be looking for in a
person filling in his shoes. Create a conversation between Ausable and the new agent about
indispensable traits that a secret agent must have.

7.You are Sakshi/Saksham, Hostel Warden, Radha Krishna Public School, Vrindavan, Uttar
Pradesh. Write a letter to the Sales Manager, Bharat Electronics and Domestic Appliances Ltd.,
New Delhi, placing an order for fans microwaves, ovens and geysers that you wish to purchase
for the hostel. Also ask for discount permissible on the purchase.

8. You are Priyanka. You visited The Green Gardens Resort during the holidays. Write a
paragraph for your school magazine about why the place attracted you.
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Class 10 SECTION (A+B)
CHEMISTRY

Q.1 (i)Arrange the following metals in the decreasing order of chemical reactivity; placing the

most active first. Cu, Mg, Fe, Na, Ca, Zn.
(i)Give two metallurgical facts that justify placing magnesium above iron in the activity series.

(Il)Name two metals that occur in a free state nature. What is the method of refining them?

Q.2

(i)In metallurgy what do the terms gangue, Ores, stand for? Give examples.
(i) In metallurgy, what does the term 'Roasting’ stand for?

(i) Name the by- product formed during roasting and give one of its uses.

Q.3

Explain the formation of an ionic compound between a metal and a non- metal by transfer of

electrons with Mg as the metal and chlorine as the non @metal to illustrate your answer. Give
the reaction that occurs.

Q.4
Zn + H,0 (Steam) A + B

In the above equation (A) and (B) are

Zn & H;

Zn ,Hg & 03
ZHOE & 02
Zn0 & H,

it ol B

Q.5 lonic bond is formed between -

Two electropositive elements

Two electronegative elements
Electropositive & electronegative elements
None of these

- wh =

Q.6

Which of the following method is not used in purification of metals ?
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Calcinations
Liquation
Distillation
None of these

~Wh =

Q.7 Write the chemical equation of chemical reaction of zinc metal with the following —

1. H,SO,
2. HO
3. O
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Social science Works
INDIAN SCHOOL

1.Define sustainable development.
2.Distinguish between rabi and kharif crops on the basis of-

A. Sowing month

B. Month of harvesting
C. Crops grown

D. Major producing states

3. Which incident made Mahatma Gandbhi to call off the Rowlatt satyagraha movement?

4 How is tertiary sector different from other sectors. Give examples.
5. State two agreements through which federations have been formed. Give an example of each.

6. Map Work :-

A.ldentify the largest producer states of the following Crops and write their names on the lines
marked.
1. Sugarcane

2. Tea

3. Coffee
4. Rubber

5. Cotton
6. Jute

B. Locate and label the following Indian National Congress Sessions on the given political outline
of India with appropriate symbols:

(i) Calcutta Session (Sept. 1920)

(ii) Nagpur Session (Dec. 1920)
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(iii) Madras Session (1927)
(iv) Lahore Session (1929)

7. What does the history of developed countries indicate about the shifts that have taken place
between the sectors ?

8. Explain the three measures taken by Sri Lanka as per the Act passed in 1956.
9. What is Human Development Index?

10. Write a note on The Greek war of independence.
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Q1. Section A

1. The HCF and LCM of two numbers is 9 and 459 respectively. If one of the number is 27, then the other number is

a. 153 b. 150

c. 459 d. 135

2. What is the numberx? The LCM of x and 18 is 36. The HCF ofx and 18 is 2.
a. 1

b. 3

£2

d. 4

3. The HCF and LCM of two numbers are 9 and 90 respectively. If one number is 18, then the other number is

a.54 b.36
c.45 d.6e3

4. If the LCM of two numbers is 45 times their HCF and the sum of LCM and HCF is 1150, then HCF (1) a. 50 b. 45 C

1150d 25

5. is neither prime nor composite.

a. 4

b 1

C. 2

d. 3

Y & All non-terminating and non-recurring decimalnumbers are
a. rational numbers

b. irrational numbers

ol Integers

d. natural numbers

8. The  HCF of two consecutive odd numbers is

Page 1 of 3
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w = O M

9, The  decimalexpansion of " pie :

a. IS non-terminating and non-recurring

b. is terminating

o does not exist

d. is non-terminating and recurring

10.) 0.51511531 11511115 .cccuuiiivnn is

a. a rational number

b. a prime number

c. an Integer

d. an irrational number

Section B

1. Show that 2root3 IS irrational.

2.The LCM of two numbers is 64699, their HCF is 97 and one of
the numbers 15 2231.

Find the other.

3.Find HCF and LCM of 625, 1125 and 2125 using fundamental theorem of arithmetic.

4.Express 0.16 ( bar on 16) as a rational numberin simplest form of p/q.

5. Find the HCF and LCM of 11008 and 7344 using fundamental theorem of arithmetic.

6. Express the given number as the product of its prime factors: 5005.

7. If-1is a zero of the polynomial ftx) = x-7x-8, then calculate the other zero. (1) 11. Express 0.8 as a fraction in

simplest form.

8. Prove that root2 is an irrational number. (3)

9. Prove that 4+5root2is an irrational number.
Page 2 of 3
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10. Amita, Suneha and Raghav start preparing cards for greeting each person of an old age home on new year. In
order to complete one card, they take 10, 16 and 20 minutes respectively. If all of them started together, after what
time will they start preparing a new card together? Why do you think there is a need to show elders that the young

generation cares for them and remembers the contribution made by them in the prime of their life?

11. Three sets of physics, chemistry and mathematics books have to be stacked in such a way that all the books are
stored topic wise and the number of books in each stack is the same. The number of physics books is 192, the
number of chemistry books is 240 and the number of mathematics books is 168. Determine the number of stacks of

physics, chemistry and mathematics books.

12.Find the simplest form of 69/92

13. Findthe largest number which divides 546 and 764, leaving remainders 6and 8

respectively.

14. FindHCF and LCM  of 378, 180 and 420 by prime factorization method. Is HCF ,LCM

of these numbers is equal to the product of the given three numbers?

15. A fruit vendor has 980 apples and 945 oranges. He packs them into baskets.
Each basket contains only one of the two fruits but in equalnumber. Find the

number of fruits to be put in each basket in order to have minimum number of baskets.
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